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Fill in the blanks :

@M 15em = 150 mm
@ 3m= 300 cm
® 800m= 8 km

@ 1km450m = 1450 m
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Measuring :
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Learning km and mm

@ 40mm = 1 cm
@ 5600cm = 56 m
® 6m= 6000 mm

Okm =_ 9000 m
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mm, about ____ cm
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mm, about - cm

mm, about — —  cm
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mm, about — cm
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Fill “km” , “m” , “cm” or “mm” in the blanks :
@D LWk BEHE T o

A swimming pool is about 50 m long.

@ -mEzrmiums_ TR -
A $5 coin is about 3 MM thick.

@ AMmsR30_JER -

An A4 paper is about 30 cm long.

B AFA

Answer according to the figure :
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Route I: Starting from A and going d1rectly to C, what is
the distance travelled in m ?

@ rggg= AR @BEC £ A S Vkn?
Route II: Starting from A and going pass B to reach C,
what is the distance travelled in km ?

@ rmm=, cwAkE o @DBC> £ A S Skn?
Route III: Srarting from A and going pass D to reach C,
what is the distance travelled in km ?

@ k=38 SMEHRREREB 09k ?
Among the three routes above, which one will be the fastest
to travel ?
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